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QUESTION 1

You are deploying a layer 3 underlay network with 10,000 devices and hosts. Which two statements are correct in this
scenario? (Choose two.) 

A. Loop prevention is provided by the routing protocol 

B. Routing table can become very large 

C. RSTP can be used for loop prevention 

D. The MAC tables can become very large 

Correct Answer: AB 

 

QUESTION 2

Which protocol is used by the NorthStar Controller to discover existing tunnels in a service provider or large enterprise
WAN? 

A. SNMP 

B. PCEP 

C. REST 

D. NETCONF 

Correct Answer: BD 

 

QUESTION 3

What is an advantage of the Junos Telemetry Interface(JTI) over SNMP? 

A. JTI can pull data more frequently 

B. JTI always transfers data over HTTP 

C. JTI never transfers data over UDP 

D. JTI can push data more frequently 

Correct Answer: D 

 

QUESTION 4

What are two characteristics of cloud computing? (Choose two.) 

A. customer-owned equipment 
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B. measured service 

C. resource pooling 

D. unrestricted public access to all resources 

Correct Answer: BC 

 

QUESTION 5

Which juniper product provides insight into the underlay and overlay network at the same time? 

A. Security Director 

B. AppFormix 

C. Edge Services Director 

D. Juniper Extension Toolkit 

E. Contrail Analysitcs 

Correct Answer: B 

 

QUESTION 6

What are two goals of cloud security automation? (Choose two) 

A. to centrally manage security policies 

B. to transition all security functions to cloud platforms 

C. to automate responses to detected security threats 

D. to implement all security functions in hardware 

Correct Answer: AC 

 

QUESTION 7

What are two roles of sandboxing in Sky ATP? (Choose two) 

A. To test the operation of security rules 

B. To analyze the behavior of potential security threats 

C. To validate the operation of third-party components 

D. To store infected files for further analysis 

Correct Answer: BD 
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QUESTION 8

You are deploying a vMX device in your network. 

Which two virtualized components are required in this scenario? 

A. virtual forwarding plane 

B. virtual chassis port 

C. virtual chassis fabric 

D. virtual control plane 

Correct Answer: AD 

 

QUESTION 9

You must create a security policy that works cross your multicloud, Kubernetes, and OpenStack 

deployments. 

Which product will accomplish this task? 

A. Contrail Security 

B. Policy Enforcer 

C. Sky ATP 

D. Juniper ATP 

Correct Answer: D 

 

QUESTION 10

Which statement defines a public cloud? 

A. The cloud infrastructure is a composition of two or more strict cloud infrastructures 

B. The cloud infrastructure is provisioned for exclusive use by a specific community of consumers from organizations
that have shared concerns 

C. The cloud infrastructure is provisioned for exclusive use by a single organization comprising multiple consumers 

D. The cloud infrastructure is provisioned for open use by the general Public 

Correct Answer: D 
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QUESTION 11

You are the administrator of an MPLS WAN. Intermittent WAN hardware failures are causing customer traffic to route
over newly computed forwarding paths that do not satisfy service level agreements. Which Juniper Networks solution
would be used to analyze this problem? 

A. Network Director 

B. AppFormix 

C. NorthStar Planner 

D. Contrail 

Correct Answer: C 

 

QUESTION 12

Which statement is correct when deploying services inside containers? 

A. Containers can always be deployed for free 

B. Containers use fewer resources than VMs 

C. Services have dedicated processor and memory resources on each server 

D. Service must not be deployed using the same operating system 

Correct Answer: B 

 

QUESTION 13

Which type of tunnels are provisioned by the NorthStar controller? 

A. IPsec VPNs 

B. VPLs 

C. MPLS LSPs 

D. GRE over UDP 

Correct Answer: C 

 

QUESTION 14

Which statement describes AppFormix? 

A. AppFormix is a high-performance virtual device that secures virtualized and cloud environments 

B. AppFormix is the SDN automation platform for OpenStack Iaas 
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C. AppFormix is responsible for monitoring, Analytics and intent-driven infrastructure optimization 

D. AppFormix is virtualized full-featured, carrier-grade ideal for NFV environments 

Correct Answer: C 

 

QUESTION 15

Which two statement are true about SDN WAN implementations? (Choose two) 

A. SDN WAN uses VXLAN to connect POPs 

B. SDN WAN uses data center orchestration platforms 

C. SDN WAN uses a centralized a control plane 

D. SDN WAN uses MPLS tunnels to connect POPs 

Correct Answer: CD 
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